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ö

h
e

[c
m

]
5

5
·0

,7
5
·0

,7
2

5
·0

,7
3

5
·0

,7
4

=
3
,5

=
2
,4

5
=

1
,7

1
5

· =
1
,2

F
ra

g
e

:
W

ie
h

o
c
h

is
t

d
ie

S
c
h

a
u

m
k
ro

n
e

n
a

c
h

4
0

S
e

k
u

n
d

e
n

?

W
ir

e
rw

a
rt

e
n

p
ro

S
e

k
u

n
d

e
e

in
e

A
b

n
a

h
m

e
u

m
d

e
n

F
a

k
to

r

(0
,7

)
1 6
0
,

d
e

n
n

1
M

in
u

te
=

6
0

S
e

k
u

n
d

e
n

u
n

d
(
(0

,7
)

1 6
0

)
6

0
=

0
,7

.

D
e

m
n

a
c
h

:
5
·(

(0
,7

)
1 6
0

)
4

0
=

5
·0

,7
2 3
· =

3
,9

4
[c

m
].

A
ll

g
e

m
e

in
:

H
ö
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ü

rz
t

a
b

n
!
:=

1
·2
·3
··
··
·n

(s
p

ri
c
h

:
”n

-F
a

k
u

lt
ä
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